Canonbury Home Learning[image: ]
[bookmark: _GoBack]Year 2 Maths
ANSWERS

	Task 1
	Task 2
	Task 3
	Task 4

	Practice
Use Base 10 jottings to answer these calculations:

36 - 17 = 19

43 - 14 = 29

45 - 16 = 29

54 - 29 = 25

61 - 35 = 26

 
	Practice
Use Base 10 jottings to answer these calculations:

32 - 19 = 13

37 - 18 = 19

54 - 25 = 29

71 - 36 = 35

112 - 36 - 15 = 61

132 - 28 - 24 = 80




	Reasoning
Explain your answers. 
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5b. Various answers, for example:
94-76=18,94-67=27and74-69=5
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éb. Sara is correct because she has

accurately counted the remaining ones
whereas Fred has miscounted.




image2.png
éa. Gary is correct because he accurately
exchanged 1 ten for ten ones, unlike
Molly.
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5a. Various answers, for example:
82-35=47,35-28=7and 52-38=14
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